RAIGT AL IO S RETR T M 227 24 H

O[] 45 B3
| s o _ IR A
el R kel Bl TR
1 Tt nooooooooooo| BV REEGIES WEA Y0000140§);)205214000 FUBR R A8 22 T 1500.0
2 ## [poo0o0000000| HFAERESSEES 7Y%k 5000014002?552140014 S5 R B 1500.0
} gy PO0000000000 gy ey — 50000140033322130017 et 000
A gewpr PO0DD0D0000000 py s —u sooom4oo§832213oo17 e 0000
: g PO00000000000 iy —u 50000140032322130017 et 0000
6 oy 000000000000 BV REESIER =% 80000140038242130002 RGBT 2000.0
7 Rt 000O00O0o0ooo BRIV B RESF e =7 80000140052652130016 FEEZEEHR 2000.0
8 i 0000000000 | B AESIEES 2% 500001400f3082240005 0245 4 FL B 1500.0
9 FRi 000O0O0o0oooo WOl RE I IS 8000014()0?2082240005 W 28 42 4 T 1500.0
10 FK 0000000000 HO 7 gL uE 4 Y2k 80000140022082240005 x| 2% 2 A THL 4 1500.0
11 e 0000000000 | BUA RS LTS P2k 50000140022082240005 245 4 FEL B 1500.0
12 X138 0oooo0o0o0o0OO WOl F2 RE S k1 Y% 800001400i2082240005 W 25 42 T DY 1500.0
13 Wocm | 0000000000 | B AT P2k 80000140023082240005 245 0 4 FEL B 1500.0
14 +=EH ooooooooon O+ RESE S e 8000014OO§(7)082240005 | £ 2 4 A T Y 1500.0




HRk B REUEA

= 4 S N A T AN
hiaea 4 FRNL AL FR T = T TR R <0
15 BHTTF 0000000000 ROl F2 aESE b1 IEA3 800001400i8082240005 W 245 4 BT DY 1500.0
16 oLl S Oo0O00oooooon B REZE 2 iF 5 I3 8000014()0?8082240005 B e =L Yl 1500.0
17 B, 0000000000 | B EAESgHES ups 500001400;2082240005 Lozl 1500.0
8 THfE | oooooooooo | BUREAESSUED g PUOCVTAOE 022000 024 B 4 L 1500.0
19 T 0000O000O0O0O0 HOlH7 aEEIOE 1 WEZ3 80000140022082240005 x| £ 2 A A5 T Y 1500.0
20 FI% nooooooooooo|l  BOVERELZIE I 80000140022082240005 | £ 27 4 A T Y 1500.0
21 f%3 | nooooooooo | BULERESRE D P2k 500001400f§082240005 445 A FL B 1500.0
22 YiWe | oooooooooo | BULERESSIED gy PUOCOTAOZI0R22A0005 024 B 4 B 15000
23 SE | 0000000000 | WOARESSEES P2k 500001400§2082240005 012452 4 T B4 1500.0
24 %% p00000000000| B AESIEES 2% 50000140022082240005 014452 4 T 54 1500.0
25 5T 0000000000 POV, REZE I W 800001400i(2)082240005 S =5l 1500.0
26 WEE  booooooooooo| B AEEEEES =% YOOO““OSSSWBOOO PSR B4 2000.0
27 4yss%k poOOODOOOOOD| BERESIEES 2% YOOO““O;)(());)O””OOO W HE A T 1500.0
28 HEA  po000o0oooon| B AESIHES = 500001400i2242130001 VRSB T 2000.0
29 ZrhEy  pooooooooooo| BV AEEgER =% 5000014002242130001 RS T 2000.0
30 ik noooooooo0o0o0| BV REEGIIEH =% [80000140020242130001 RSB T 2000.0




do

2

B4R

HRk B REUEA

FR

W5

BRI TRy

I < 0

51




